H & 0l & AHS B Ml A

FA BHUF
I Zdsts € 2A=010S LHuS/8Y - HPU\)
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A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
BYusn 15,852,424 15,741,906 110,518
= 28,800 0 28,800
LS 43,135 8,910 34,225
Al 15,780,489 15,732,99% 47,493
FYsis € 2A=011S LHuS/8Y - HPUS) 1,738,950 1,635,870 103,080
= 28,800 0 28,800
< 33,550 0 33,550
Al 1,676,600 1,635,870 40,730
BUsETAl =4 1,091,280 990,900 100,380
= 28,800 0 28,800
LS 33,550 0 33,550
Al 1,028,930 990,900 38,030
Fysiga T2 29 235,540 205,840 29,700
301 LetEA=Z 225,540 195,840 29,700
BOE2Ed= 225,540 195,840 29,700
Ogdstsa 1208 29 225,540 195,840 29,700
LA (53) 225,540 195,840 29,700
—2AI2t 23 64,260,000 64,260 34,560 29,700
ol u= 151,100 122,300 28,800
= 28,800 0 28,800
Al 122,300 122,300 0
201 Let2ay| 17,900 9,660 8,240
= 8,240 0 8,240
Al 9,660 9,660 0
01 Ak 2teltl 17,900 9,660 8,240
Ogt=24| 17,900 9,660 8,240
odolZoiud 23t X 29 8,240 0 8,240
- ZeMEss M=l
20,0002 %200 4,000 0 4,000
= 4,000 0 4,000
-Zol=EE 2E=3
700,000 * 14! 700 0 700
= 700 0 700
—AltE & gt Al 2SES
1,340,000 14 1,340 0 1,340
= 1,340 0 1,340
-SENEM)| 2EES
5,000&*200% 1,000 0 1,000
= 1,000 0 1,000
- (eE=37Y)
6,0002 %200 1,200 0 1,200
= 1,200 0 1,200
301 LEtEN S 96,400 9,640 3,760
= 3,760 0 3,760
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o2 AHI(0IE) 230,000 74 1,610 0 1,610
< 1,610 0 1,610
S AHI(E A 310,000 x4 1,240 0 1,240
< 240 0 240
Al 1,000 0 1,000
MENSIS AT LAY 11,700 0 11,700
= 11,700 0 11,700
307 2Iztol & 11,700 0 11,700
< 11,700 0 11,700
02 QI B AL ER 11,700 0 11,700
O2023F MEfSIEAIES
11,700,000+ 14| 11,700 0 11,700
& 11,700 0 11,700
CXE=2oius S5I101 A 24,000 0 24,000
= 20,000 0 20,000
Al 4,000 0 4,000
201 Zer=2 Y| 2,000 0 2,000
01 Ak 2teltl 2,000 0 2,000
eS| 2,000 0 2,000
oUXNE2Hns 24 2,000 0 2,000
—EI=SPC H0IL &l
30,0002 =444 1,320 0 1,320
—-2EISHI| 7Y 85,0002 +8H 680 0 680
405 RrakF SH| 22,000 0 22,000
5 20,000 0 20,000
Al 2,000 0 2,000
01 MM =SFSHI 22,000 0 22,000
OEH=SIPC 2| 500, 0002 «44CH 22,000 0 22,000
< 20,000 0 20,000
Al 2,000 0 2,000
=Mzt WSS &4 647,670 644,970 2,700
=Kz l=0us &% 142,360 139,660 2,700
201 LerEaY| 6,580 3,880 2,700
R =23l 2,700 0 2,700
OAIZEHIS A 2,700 0 2,700
cMetdE=MUSH XY 2B ESHH
NSAH BEFATS B4 2 OH{EHEXR|
2,700,000 14 2,700 0 2,700
HAd 25 ¥ SH(MESH/ el - FAY) 31,950 29,700 2,250
T 9,585 8,910 675
Al 22,365 20,790 1,575
Stw & Ha X3 31,950 29,700 2,250
LS 9,585 8,910 675
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= 9,585 8,910 675
Al 22,365 20,790 1,575
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< 9,585 8,910 675
Al 22,365 20,790 1,575
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= 9,585 8,910 675
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MPES(BYUSI)(US/BY - JYWS) 7,684 2,4% 5,183
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02 Al - SHIEESBHE = 7,683 2,4% 5,188
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S ASEHH 2,307,090 14| 2,308 0 2,308
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